AT

10{E% 10 5 L7=3%. 100 & L7223 < D TT D,

52 Jk& 10 i L7=%%. 100 & L7223 < D TI D,

520 (&% 10 ThHo7=5.100 Th-o> 72TV < > TT D,

21 JEZ 10 Th-o7=3.100 Th-o7=8i1TW < DT,

WOHELZLEL & 9,

(1) 50{E&x10 (2) 600 1% X100
(3) 200fE-+10 4) 73JK=100
(5) 800 {E <100 (6) 40 JE-100

(7) 1000 J3 X 10 (8) 5JK-+100




N X

1 10 8% 10 {5 L7225k, 100 5 L7220IV < ST,
10 f#%---100 & 100 f%--- 1000 {&
2 52 JK%& 10 £ L7=4%. 100 {5 L7283 < 2 TT D,
10 fi5---520 JK 100 fi5---5200 JK
3 520 % 10 Th o248, 100 ThH o2 EIT V< > TT
10 Cho7-%-52 & 100 ThH-o 7255 (% 2000 5
4 21 Jk% 10 ThHo72%%. 100 ThH o 7=HIIWV < D TT D,
10 T o 7=%x---2 JK 1000 (5 100 Ti>o72%L---2100 &
SWOFHEEZLEL X 9,

(1) 50fEX10 = 5001E(2) 600f& X100 = 6 JK

(3) 200fE-+10 = 201&(4) 7 JE+100 = 700 {&

(5) 800 fZX100 =8 JK (6) 40 JK=100 = 4000 {&

(7) 1000 77 X10 = 1{8(8) 5JK-+100 = 500 f&



